A14+A15 — B no2.0 ykassbiBaem Hao odpaweHue K adpecam 4000-7FFF;

Ecau A14=A15=1, mo SSO0=S0, SS1=51,S52=52;
MHayve SSO=A14, SS1=A15, a SS2 paccyumsibaemcd no GopMyane:

SS2=(AT4+A15)+S2*A14*A15

Kapma npouwubku M34Y PT11 (SS)

30 dec

31 dec

Cueran | Adpec e M3 | o0 TE | g hex | 107 hex 16 hex 1 hex A hex 8 hox 1C hex D hex E hex T hox
S2 AO g - 1 g - 1 0 - 1 0 1 0 1 0 1 0 1
ST A1 g - 1 g - 1 0 - 1 0 0 1 1 0 0 1 1
SO A2 g - 1 g - 1 0 - 1 0 0 0 0 1 1 1 1
A15 A3 0 1 0 1 1 1 1 1 1 1 1
A4 A4 0 0 1 1 1 1 1 1 1 1 1
- AS 0 0 0 0 0 0 0 0 0 0 0
- A6 0 0 0 0 0 0 0 0 0 0 0
- A7 0 0 0 0 0 0 0 0 0 0 0
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